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Standard Costing

Assignment
Q. Question / Answers
No.
1. | XYZ Ltd. Has furnished you the following information for the month of August, 20X1: -
Particulars Budget Actual
Output (units) 30,000 32,500
Hours 30,000 33,000
Fixed overhead 345,000 50,000
Variable overhead 360,000 68,000
Working days 25 26
Calculate overhead variances.
(ICAI SM modified, Modified in May.2017, Nov.2018, May 2014 RTP, MTP May 2020, RTP
May 2014)
Ans. | Calculation of variances: -

Fixed overhead variances: -
i) Fixed Overhead Cost Variance = Recovered Overhead — Actual Overhead
= 48,750 — 50,000
=31,250 (A)
ii) Fixed Overhead Expenditure Variance = Budgeted Overhead — Actual Overhead
= 45,000 — 50,000
=3%5,000(A)
iii) Fixed Overhead Volume Variance = Recovered Overhead — Budgeted Overhead
= 48,750.— 45,000
=3%3,750 (F)
iv) Fixed Overhead Efficiency variance = Recovered Overhead — Standard Overhead
= 48,750 — 49,500
=3750 (A)
v) Fixed Overhead Capacity Variance = Standard Overhead — Revised Budgeted Overhead
= 49,500 — 46,800
=32,700 (F)
vi) Calendar variance = (Actual Days — Budget Days) X Standard rate per day
= (26 —25) x 1,800 =X 1,800 (F)

Variable Overhead Variances: -
i) Variable Overhead Cost variance = Recovered Overhead — Actual Overhead
= 65,000 — 68,000 = X 3,000(A)
ii) - Variable Overhead Expenditure Variance = Standard Overhead — Actual Overhead
= 66,000 — 68,000 = X 2,000 (A)

iii) Variable Overhead Efficiency Variance

= Recovered Overhead — Standard Overhead

= 65,000 — 66,000 = 31,000 (A)
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Working Notes:
Basic Calculations: -
Standard hours per unit _ Budgeted hours _ 30,000 _ ;4 o
Budgeted units 30,000
Standard hours for actual output = 32,500 units X 1 hr = 32,500
Standard overhead rate per hour _ Budgeted overhead
Budgeted hours
For fixed overhead = 25990 _ 21.50 per hour
30,000
For Variable overhead = 20999 _ 22 per hour
30,000
Standard Fixed Overhead rate per day = 345,000 + 25 days = 1,800
Recovered overhead = Standard hours for actual output X
Standard rate
For fixed overhead = 32,500 hrs.x X1.50 =X 48,750
For Variable overhead = 32,500 hrs.x X2 =X 65,000
Standard overhead = Actual hours X Std. rate
For fixed overhead = 33,000 x 1.50 = 349,500
For variable overhead = 33,000 X 2 =%66,000
Revised budget hours — Budgeted hours A ctual days
Budgeted days
= 222 % 26 = 31,200 hours

*Revised Budgeted overhead (for fixed overhead)= 31,200 x 1.50 = 346,800

2, For making 10 kg. of CEMCO, the standard material requirements is: -
Material Quantity Rate per kg. (X)
A 8 kg 6.00
B 4 kg 4.00
During April, 1,000 kg of CEMCO were produced. The actual consumption of materials is as under:-
Material Quantity (kg.) Rate per kg. (X)
A 750 7.00
B 500 5.00
Calculate: -
a) Material Cost Variance;
b) Material Price Variance;
c) Material usage Variance.
(Modified in ICAI SM, May 2009, RTP May 2013 and May 2018, Nov. 2017,
Modified MTP May 2022 & MTP May 2019)
Ans. | Calculation of Variances: -

a) Material Cost Variance = Standard cost — Actual cost
= 6,400 — 7,750 =X 1,350(A)
b) Material Price Variance = (Standard Price — Actual Price) X Actual Quantity
A=(6—-7)x750= X750 (A)
B=(4—-5)x500= X500 (A)
Material Price Variance =X 1,250 (A)
c¢) Material Usages Variance = (Standard Quantity — Actual Quantity) X Standard Price
A = (800 — 750) x 6 =X 300(F)
B = (400 — 500) x 4 =3 400(A)
Material Usages Variance =X 100 (A)
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Workings: -

i) Standard cost for 1,000 kg
A=800kg(8+10x1000) x 36 = 4,800
B=400kg (4 + 10 x 1000) x 34 =1,600

1,200 6,400

ii) Actual cost for 1,000 kg.

A=750kg x X7 = 5,250
B =500 kg x X5 = 2,500
1,250 7,750

3. | LM Limited produces a product ‘Sx4’ which is sold in a 10 kg. packet. The Standard Cost card per
packet of ‘Sx 4' is as follows: -
Particulars )
Direct materials 10 kg @ X 90 per kg 900
Direct labour 8 hours @ X 80 per hour 640
Variable Overhead 8 hours @ X 20 per hour 160
Fixed Overhead 250
1,950
Budgeted output for a quarter of a year was 10,000 kg. Actual output is 9,000 kg. Actual costs for
this quarter are as follows: -
Particulars (§3]
Direct Materials 8,900 kg @ X 92 per kg. 8,18,000
Direct Labour 7,000 hours @ X 84 per hour 5,88,000
Variable Overhead incurred 1,40,000
Fixed Overhead incurred 2,60,000
You are required to Calculate: -
a) Material Usage Variance
b) Material Price Variance
c) Material Cost Variance.
d) Labour Efficiency Variance
e) Labour Rate Variance
f) Labour Cost Variance
g) Variable Overhead Cost Variance
h) Fixed Overhead Cost Variance
(May 2021 RTP, Nov. 2020 RTP, Modified Nov 2013, Modified RTP Nov 2019, Modified ICAI
SM, Modified MTP May 2019)
Ans. | a) Material Usage Variance = Standard Price (Std. Quantity — Actual Quantity)

=390 (9,000 kg — 8,900 kg.)
=39,000 (Favourable)
b) Material Price Variance = Actual Quantity (Standard Price — Actual Price)
= 8,900 kg. (390 —392) =317,800 (Adverse)

c) Material Cost Variance = Standard Material Cost — Actual Material Cost
= (Standard Quantity x Standard Price) — (Actual Quantity X
Actual Price)
= (9,000 kg.x X 90) — (8,900 kg x X 92)
=3%8,10,000 — X 8,18,800
= 38,800 (Adverse)
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d) Labour Efficiency Variance = Standard Rate (Standard Hours — Actual Hours)

=380 (% x 8 hours — 7,000 hours.)

=X 80(7,200 hours — 7,000 hours.)
=316,000 (Favourable)

e) Labour Rate Variance = Actual Hours (Standard Rate — Actual Rate)
= 7,000 hours (X 80 —X 84)
=328,000 (Adverse)

f) Labour Cost Variance = Standard Labour Cost — Actual Labour Cost
= (Standard Hours X Standard Rate) — (Actual Hours X
Actual Rate)
= (7,200 hours x 3 80) — (7,000 hours X I84)
=35,76,000 — X 5,88,000
=312,000 (Adverse)

g) Variable Cost Variance = Standard Variable Cost — Actual Variance Cost
= (7,200 hours x X 20) — X 1,40,000
= 34,000 (Favourable)

h) Fixed Overhead Cost Variance = Absorbed Fixed Overhead — Actual Fixed Overhead

=220 + 9,000 kgs — X 2,60,000
10 kgs

=32,25,000 —%2,60,000 =X 35,000 (Adverse)

Following data is extracted from the books of XYZ Ltd. For the month of January, 20X1: -
i) Estimation: -

Particulars Quantity (kg.) Price (X) Amount ()
Material-A 800 7 e
Material-B 600 30.00 18,000

ii) Actuals: -

1480 kg of output produced: -

Normal loss was expected to be 10% of total input materials.

Particulars Quantity (kg.) Price (X) Amount ()
Material-A 900 22—
Material-B ? 3250 | emeeee-

59,825

Other Information: -
Material Cost Variance = X3,625 (F)
Material Price Variance = X175 (F)
You are required to Calculate: -
a) Standard Price of Material-A;
b) Actual Quantity of Material-B;
c) Actual Price of Material-A;
d) Revised Standard Quantity of Material-A and Material-B;
e) Material Mix Variance.
(ICAI SM, Modified MTP Nov 2020, Modified MTP May 2022, Modified MTP May 2023-I)
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Ans. | a) Material Cost Variance (A+B) = {(Standard Quantity X Standard Price) —
(Actual Quantity X Actual Price)}

X3,625 = (Standard Quantity x Standard Price) — 359,825

(Standard Quantity X Standrd Price) = X 63,450

(Standard Quantity, X Standard Price, + (Standard Quantityg X Standard Priceg)

=363,450
(940 kg x Standard Price,) + (705 kg X X30) = X 63,450
(940 kg x Standard Price,) + X 21,150 =363,450
(940 kg x Standard Price,) =342,300
. 242,300
Standard Price, = 510 kg

Standard Price of Material — A = 345

Working Notes: -
Standard Quantity i.e., quantity of inputs to be used to produce actual output
= € = 1,645 kg
Standard Quantity, = % X 1,645 kg. = 940 kg
Standard Quatityg = % %X 1,645 kg = 705 kg
b) Material Price Variance (A+B) = {(Actual Quantity x Standard Price) —

(Actual Quantity X Actual Price)}
% 175 = (Actual Quantity x Standard Price) — X 59,825
(Actual Quantity x Standard Price) = X 60,000
(Actual Quantity, X Standard Price,) + (Actual Quantityg X Standard Priceg) = 360,000

900 (kg x I45(from(i)above)) +(AQp x'30) =360,000
340,500 + (AQp x X30) = 360,000

(AQp x %30) =3%19,500

AQp = == = 650 kg

Actual Quantity of Material B =650kg.

c¢) (Actual Quantity X Actual Price) = 359,825
(Actual Quantity, X Actual Price,) + (Actual Quantityg X Actual Priceg)
=3%59,825
(900 kg x Actual Price,) + (650 kg (from (ii)above) x X 32.5) = 359,825
(900 kg x Actual Price,) + X 21,125 =% 59,825

(900 kg x Actual Price,) = 38,700
38,700
=43
900
Actual Price of Material — A = 343

Actual Pricey =

d) Total Actual Quantity of Material A and Material B
= Actual Quantity, + Actual Quantityg = 900 kg + 650 kg (from (ii) above)
= 1,550 kg
Now,

800 kg
(800+600)
600 kg
(800+600)

Revised Standard Quantity, = x 1,550 kg = 886 kg

Revised Standard Quantityg = X 1,550 kg = 664 kg
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e) Material Mix Variance (A + B) = {(Revised Standard Quantity x Standard Price) —
(Actual Quantity x Standard Price)}
= {(Revised Standard Quantity, X Standard Price,) + (Revised Standard Qunatityg X
Standard Priceg) — 60,000}
= (886 kg (from (iv) above) x 45 (from (i) above)) + (664 kg (from (iv) above) x
330) — 60,000
= (39,870 + 19,920) — 60,000 = 3210 (A)

5. | QS Limited has furnished the following information: -

Standard overhead absorption rate per unit 20
Standard rate per hour 34
Budgeted production 12,000 units
Actual production 15,560 units
Actual working hours 74,000

Actual overheads amounted to X2,95,000, out of which 362,500 are fixed. Overheads are based on
the following flexible budget: -

Production (units) Total Overheads ()
8,000 1,80,000
10,000 2,10,000
14,000 2,70,000

Calculate following overhead variances on the basis of hours: -
a) Variable overhead Efficiency Variance.
b) Variable Overhead expenditure Variance.
c) Fixed overhead Efficiency Variance.
d) Fixed Overhead Capacity Variance.
(May 2012, May 2015, ICAI SM)

Ans. | a) Variable Overhead Efficiency Variance: -

v' = Standard Rate per hour (Standard Hours — Actual Hours)
v =1%3 (77,800 hours — 74,000 hours)
v =3%11,400 (F)

b) Variable Overhead Expenditure Variance: -

v" = Actual Hours (Standard Rate — Actual Rate)
v' =74,000 hours (X3 —X3.1419)
v =%10,500 (A)

c) Fixed Overhead Efficiency Variance: -
v' = Standard Rate per Hour (Standard Hours — Actual Hours)
v =%1(77,800 hours — 74,000 hours)
v =% 3,800 (F)

d) Fixed Overhead Capacity Variance: -
v' = Standard Rate per Hour (Actual Hours — Budgeted Hours)
v =%1(74,000 Hours — 60,000 Hours)
v’ =374,000-360,000 =314,000 (F)
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Workings: -

1)

2)

3)

4)

5)
6)

7)

8)

Variable Overhead rate per unit

__Difference of Overhead at two level

Difference in Production units
X2,10,000—-% 1,80,000

- = =315

10,000 units—8,000 units
Fixed Overhead =X 1,80,000—(8,000 units x X 15) =3 60,000

Standard hours per unit of production
__Std.Overhead Absorption Rate _ 320

= = 5 hours
Std.Rate per hour 34

Standard Variable Overhead Rate per hour
Variable Overhead per unit 15
Std.hour per unit 5 hours

Standard Fixed Overhead Rate per hour=34 —X3=X 1.

Actual Variable Overhead =X 2,95,000 — X 62,500 =X 2,32,500.

X2,32,500
74,000 hours
=3X3.1419

Actual Variable Overhead Rate per hour=

Budgeted hours = 12,000 units x 5 hours = 60,000 hours

Standard Hours for Actual Production = 15,560 units x 5 hours = 77,800 hours.

6. | The standard output of Product ‘DJ’ is 25 units per hour in manufacturing department of a Company
employing 100 workers. In a 40 hours week, the department produced 960 units of product ‘DJ’
despite 5% of the time paid was lost due to an abnormal reason. The hourly wage rates actually
paid were %6.20, 6.00 and X5.70 respectively to Group ‘A’ consisting 10 workers, Group ‘B’
consisting 30 workers and Group ‘C’ consisting 60 workers. The standard wage rate per labour is
same for all the workers. Labour Efficiency Variance is given X240 (F).

You are required to compute:

a) Total Labour Cost Variance.

b) Total Labour Rate Variance.

c) Total Labour Gang Variance.

d) Total Labour Yield Variance, and

e) Total Labour Idle Time Variance.

(July 2021, RTP May 2022 Modified, ICAI SM)
Ans. | i) Total Labour Cost Variance

= (Standard hours x Standard Rate) - (Actual Hours x Actual rate)
=(3,840x 6) - 23,360 = 320A

ii) Total Labour Rate Variance
= (Standard Rate - Actual Rate) x Actual Hours

Group ‘A’ = (6- 6.2) 400 = 80A

Group ‘B’ = (6- 6) 1,200 = 0

Group‘C’'=(6-5.7) 2,400 = 720F
640F

888 888 0402 support@escholars.in l 7




www.escholars.in

iii) Total Labour Gang Variance
= Total Actual Time Worked (hours) x {Average Standard Rate per hour of Standard Gang -
Average Standard Rate per hour of Actual Gang@}
@ On the basis of hours worked

= 3800 x (6—

=0

3840 ><6)
3,800

Note - As the number of workers in the standard and actual is same, there is no difference in
mix ratio, so labour gang variance will be NIL.

iv) Total Labour Yield Variance
= Average Standard Rate per hour of Standard Gang x {Total Standard Time (hours) - Total
Actual Time worked (hours)}
=6 x (3,840 - 3,800)

= 240F

v) Total Labour idle time variance
= Total Idle hours x standard rate per hour
=200 hours x 6

=1,200A

Working Notes:
1) Calculation of Standard Man hours
When 100 workers work for 1 hour, the standard output is 25 units.

Standard man hours per unit =

100 hours
25 units

= 4 hours per unit

2) Calculation of standard man hours for actual output:
=960 units x 4 hours = 3,840 hours.

3) Calculation of actual cost

Type of No of Actual Rate Amount | Idle Hours (5% | Actual hours
Workers Workers |HoursPaid | (%) ) of hours paid) Worked
Group ‘A’ 10 400 6.2 2,480 20 380
Group ‘B’ 30 1,200 6 7,200 60 1,140
Group ‘C’ 60 2,400 5.7 13,680 120 2,280
100 4,000 23,360 200 3,800

4) Calculation of Standard wage Rate:
Labour Efficiency Variance = 240F
(Standard hours for Actual production - Actual Hours) x SR = 240F
(3,840 - 3,800) x SR =240

Standard Rate (SR) = X 6 per hour

Gama Ltd. has furnished the following standard cost data per unit of production:

v' Material 10 kg @ X 10 per kg.

v' Labour 6 hours @ X 5.50 per hour.

v Variable overhead 6 hours @ X 10 per hour.

v Fixed overhead X 4,50,000 per month (Based on a normal volume of 30,000 labour hours).
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The actual cost data for the month of August 20X1 are as follows:
v Material used 50,000 kg at a cost of X 5,25,000.

Labour paid X 1,55,000 for 31,000 hours worked.

Variable overheads X 2,93,000.

Fixed overheads X 4,70,000.

Actual production 4,800 units.

ASRNENEN

Calculate:
i) Material Cost variance
ii) Labour cost variance.
iii) Fixed Overhead cost variance
iv) Variable overhead cost variance.
(Nov. 2011, Modified Dec. 2021, MTP July 2021)

Ans. | i) Material Cost Variance = Total Standard Cost for Actual Output - Total
Actual Cost
=4,800 x 10 x 10 - 5,25,000
=4,80,000 - 5,25,000
=45,000 (A)
ii) Labour Cost Variance = Total Standard Cost of labour for Actual
Output - Total Actual Cost of labour
=4,800 x 6.0 x 5.50 - 1,55,000
=1,58,400 - 1,55,000

= 3,400 (F)
iii) Fixed OH Cost Variance = Recovered Fixed overhead - Actual Fixed
overhead
=90 x 4,800 - 4,70,000
=138,000 (A)
iv) Variable OH Cost Variance = Recovered Variable overheads - Actual Variables
overheads

= [(4,800 x 6 x 10) - 293000]
=2,88,000 - 2,93,000

=5,000 (A)
Working Notes:
Budgeted Production 30,000/6 = 5,000 units
Budgeted Fixed Overhead Rate =4,50,000/5,000
=390 per unit

8. | The following information is available from the cost records of Vatika & Co.

For the month of August, 2009:

Material purchased 24,000 kg X 1,05,600

Material consumed 22,800 kg

Actual wages paid for 5,940 hours X 29,700

Unit produced 2160 units

Standard rates and prices are:

Direct material rate is X 4.00 per kg.

Direct labour rate is ¥4.00 per hour

Standard input is 10 kg. for one unit

Standard requirement is 2.5 hours per unit

Calculate all material and labour variances for the month of August, 2009.
(Modified ICAI SM, Nov. 2009, Modified MTP Nov. 2022)
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Ans. | Material Variances
i) Material Cost Variance
= (Standard Quantity x Standard Price) - (Actual Quantity x Actual Price)
= (2,160 x 4 x 10) - (22,800 x 4.40)
=386,400 -%1,00,320
=13,920 (A)

ii) Material Price Variance
= Actual Quantity (Standard Price - Actual Price)
= 22,800 Kg (4 - 4.40)
=9,120 (A)

iii) Material Usage Variance
= Standard Price (Standard Quantity - Actual Quantity)
=4 (21,600 - 22,800)
=4,800 (A)

Note: unit basis for direct material has been taken as kg. hence, direct material rate is 34 per kg.

Verification
MCV = MPV + MUV
13,920 (A) =9,120 (A) + 4,800 (A)

Labour Variances

i) Labour Cost Variance
= (Standard Hour x Standard Rate) - (Actual Hour x Actual Rate)
= (2,160 x 2.50 x 4) - (29,700)
=21,600-29,700 = 8,100 (A)

ii) Labour Rate Variance
= Actual Hour (Standard Rate - Actual Rate)
=5,940 (4 -5) =5,940 (4)

iii) Labour Efficiency Variance
= Standard Rate (Standard Hour - Actual Hour)
=4 (5,400 - 5,940) = 2,160 (A)

Verification:
LCV = LRV + LEV
8,100 (A) = 5,940 (A) + 2,160 (A)

9. | The standard cost of a chemical mixture is as follows: -

i) 40% Material A at 320 perkg

ii) 60% Material B at X 30 per kg

iii) A Standard loss of 10% of input is expected in production. The cost records for a period showed

the following usage: -

iv) 90 kg material A at a cost of X 18 per kg

v) 110 kg material B at a cost of X 34 per kg

vi) The quantity produced was 182 kg of good product.
Calculate all material variances.

(ICAI SM, Nov. 2019)
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Ans. | Calculation of Variances: -
1) Material Cost Variance = (Standard cost of Actual output — Actual cost)
= (5,257.78 — 5,360) = 3102.22 (A)

2) Material Price Variance = (Standard Price — Actual Price) X Actual Quantity

Material A = (20 —18) X 90 = X 180.00 (F)
Material B = (30 — 34)) x 110 = % 440.00(A)
Material Price Variance =3260.00 (A)
3) Material Usage Variance = (Standard Quantity for Actual output — Actual Quantity) x
Standard Price
Material A = (80 x 12— 90) X 20 =3182.22(A)
Material B= (120 x 122 — 110) x 30 = 340.00 (F)
Material Usage Variance =3157.78 (F)

Workings: -
Standard cost for 180 kg. output
A= 80kg x320=1600
B =120kg xX30 = 3600
200
Less: loss _ 20
180 5200

Actual cost for 182 kg. output
A= 90kg x 18 =1620
B =110kg x 334 = 3740
200
Less: loss _ 18

182 5360

Standard cost of actual output =X 5,200 X % = X5,257.78

10. | In a manufacturing company the standard units of production for the year were fixed at 1,20,000
units and overhead expenditures were estimated to be as follows:

Particulars Amount (X)
Fixed 12,00,000
Semi-variable (60% expenses are of fixed nature and 40% are of variable nature) 1,80,000
Variable 6,00,000

Actual production during the month of April, 20X1 was 8,000 units. Each month has 20 working
days. During the month there was one public holiday. The actual overheads were as follows:

Particulars Amount ()
Fixed 1,10,000
Semi-variable (60% expenses are of fixed nature and 40% are of variable) 19,200
Variable 48,000

You are required to calculate the following variances for the month of April 20X1:
i) Overhead Cost variance

ii) Fixed Overhead Cost variance

iii) Variable Overhead Cost variance
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iv) Fixed Overhead Volume variance
v) Fixed Overhead Expenditure Variance
vi) Calendar Variance
(Dec. 2021, Modified MTP Nov. 2019)
Ans. | COMPUTATION OF VARIANCES
i) Overhead Cost Variance = Absorbed Overheads - Actual Overheads
= (87,200 +3%44,800) - (X 1,21,520 + X 55,680)
= 345,200 (4)
ii) Fixed Overhead Cost Variance = Absorbed Fixed Overheads - Actual Fixed
Overheads
= 87,200-%1,21,520
= 334,320(A)
iif) Variable Overhead Cost Variance = Standard Variable Overheads for Production-
Actual Variable Overheads
= 344,800-%55,680
= 310,880 (A)
iv) Fixed Overhead Volume Variance = Absorbed Fixed Overheads - Budgeted Fixed
Overheads
= X87,200-1%1,09,000
= 321,800 (A)
v) Fixed Overhead Expenditure Variance = Budgeted Fixed Overheads - Actual Fixed
Overheads
= X10.90 x 10,000 units =% 1,21,520
= X12,520(A)
vi) Calendar Variance = Possible Fixed Overheads - Budgeted Fixed
Overheads
= %1,03,550-%1,09,000
= 5450 (4)
OR
Calendar Variance = (Actual days - Budgeted days) x *Standard fixed overhead rate per day
*Standard fixed overhead rate per day = 13,08,000/20*12 =3 5450
Fixed Overhead Calendar Variance = (19-20) x 5450 =5450(A)
Working Notes
Fixed Overheads = Budgeted Fixed Overheads _ 4 12,00,009 210
Budgeted Output 1,20,000 units
Fixed Overheads element in Semi-Variable Overheads i.e. 60% of X1,80,000 31,08,000
FixedOverheads - ATty <030
Standard Rate of Absorption of Fixed Overheads per unit (310 + X0.90) X10.90
Fixed Overheads Absorbed on 8,000 units @ X 10.90 387,200
Budgeted Variable Overheads 36,00,000
Add: Variable element in Semi-Variable Overheads 40% of X 1,80,000 72,000
Total Budgeted Variable Overheads X6,72,000
Standard Variable Cost per unit = Budge;eudd‘;zzi;b:)eu?:j:heads = 1’;0%702(;0‘10:“ 5.60
Standard Variable Overheads for 8,000 units @ X5.60 344,800
Budgeted Annual Fixed Overheads (X 12,00,000 + 60% of X 1,80,000) 313,08,000
Possible Fixed Overheads = Budge};ii;z:: g:;zheads x Actual Days = [—*zt’(;’lizo X 31,03,550
19 Days]
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*109000=(12,00,000/12)+(1,08,000/12)
Actual Fixed Overheads (31,10,000 + 60% of X 19,200) 31,21,520
Actual Variable Overheads (348,000 + 40% 0f X19,200) X 55,680
11. | NPX Ltd. Uses standard costing system for manufacturing of its product X, following is the budget
data given in relation to labour hours for manufacture of 1 unit of Product X: -
Labour Hours Rate ()
Skilled 2 6
Semi-Skilled 3 4
Un-Skilled 5 3
Total 10
In the month of January, 20X1, total 10,000 units were produced following are the details:
Labour Hours Rate (X) Amount ()
Skilled 18,000 7 1,26,000
Semi-Skilled 33,000 3.5 1,15,500
Un-Skilled 58,000 4 2,32,000
Total 1,09,000 4,73,500
Actual idle hours (abnormal) during the month: -
Skilled: - 500
Semi-Skilled: - 700
Unskilled: - 800
Total 2,000
Calculate: -
a) Labour Variances.
b) Also show the effect on Labour Rate Variance if 5,000 hours of Skilled Labour are paid @ X5.5
per hour and balance were paid @ X 7 per hour.
(ICAI SM, May 2019)
Ans. | a) i) Labour Cost Variance = (Standard Hour x Standard Rate — Actual Hour x Actual Rate)
Skilled 20,000 x 6 — 18,000 % 7 =36,000(4)
Semi-Skilled 30,000 x 4 — 33,000 x 3.5 =34,500 (F)
Unskilled 50,000 x 3 — 58,000 x 4 =382,000 (A)
Total =3383,500(A)

ii) Labour Rate Variance = (Standard Rate — Actual Rate) x Actual Hour Paid
Skilled (6 —7)x 18,000 =318,000 (A)
Semi-Skilled (4 —3.5) x 33,000 =316,500 (F)
Unskilled (3—4) x 58,000 =3 58,000 (A)
Total =359,500 (A)

iii) Labour Efficiency Variance = (Standard Hour — Actual Hour worked) x Standard Rate
Skilled (20,000 —17,500) x 6 =315,000 (F)
Semi-Skilled (30,000 — 32,300) x 4 =39,200 (A)
Unskilled (50,000 — 57,200) x 3 =1321,600 (A)

Total =315,800 (A)
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iv) Labour Idle Time Variance = (Idle Hours x Standard Rate)

Skilled 500 x 6 =33,000 (A)
Semi-Skilled 700 x 4 =32,800 (A)
Unskilled 800 x 3 =32,400 (A)
Total =38,200 (A)

v) Labour Mix Variance = (Revised Standard Hour — Actual Hour worked) * Standard Rate
Standard Hours
Total Standard hours

v Skilled (2252 X 1,07,000 — 17,500) x 6 = 23,400 (F)
1,00,000
v Semi-Skilled (M x 1,07,000 — 32,300) X 4 = X800 (A)
1,00,000

v Unskilled (15(‘:(')0(‘)’(‘)’0 x 1,07,000 — %57,200) x 3 =311,100 (A)

v' Total =%11,500 (F)

vi) Labour Yield Variance = (Standard Hour — Revised Standard Hour) x Standard Rate

v Skilled (20,000 — 258 x 1,07,000) x 6 = X 8,400 (A)
30,000

1,00,000

x 1,07,000) x 3 =3 10,500(A)

v"  Revised Standard hours = X Total Actual Hours

v Semi-Skilled (30,000 - X 1,07,000) x 4 = X 8,400 (A)

v" Unskilled (50,000 - 15350(?(?0

v" Total =327,300 (A)
b) Labour Rate Variance = (Standard Rate — Actual Rate) x Actual Hour Paid

Skilled (6 —5.5) X 5,000
(6 —7) x 13,000 =3 10,500 (A)
Semi-Skilled (4 — 3.5) x 33,000 =3 16,500 (F)
Unskilled (3 — 4) x 58,000 =% 58,000(A)
Total =352,000(A)
Working Notes: -
Particulars Budget Standard for Actual Actual
Hours Rate (€3] Hours Rate ) Hours Rate )
®) ®) )
Skilled 2 6 12 20,000 6 1,20,000 18,000 7 1,26,000
Semi- 3 4 12 30,000 4 1,20,000 33,000 3.5 1,15,500
Skilled
Unskilled 5 3 15 50,000 3 1,50,000 58,000 4 2,32,000
10 39 1,00,000 3,90,000 1,09,000 4,73,500
Particulars Idle Hours Hours worked
Skilled 500 17,500
Semi-skilled 700 32,300
Unskilled 800 57,200
Total 2,000 1,07,000

12. | Agangofworkers normally consists of 30 skilled workers, 15 semi-skilled workers and 10 unskilled
workers. They are paid at standard rate per hour as under:

Skilled 70

Semi-skilled X 65

Unskilled %50

In a normal working week of 40 hours, the gang is expected to produce 2,000 units of output. During
the week ended 31st March, 20X1, the gang consisted of 40 skilled, 10 semi-skilled and 5 unskilled
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workers. The actual wages paid were at the rate of X 75, X 60 and X 52 per hour respectively. Four
hours were lost due to machine breakdown and 1,600 units were produced.
Calculate the following variances showing clearly adverse (A) or favourable (F)
i) Labour Cost Variance
ii) Labour Rate Variance
iii) Labour Efficiency Variance
iv) Labour Idle Time Variance
v) Labour Mix Variance
(Modified in ICAI SM & Nov. 2012)
Ans. | i) Labour Cost Variance = (SH x SR) - (AH x AR)
=(1,14,400 - 1,54,400)
=340,000 (A)
ii)
Labour Rate Variance = AH (SR - AR) or (AH x SR) - (AH x AR)
Skilled %1,12,000 - %1,20,000 %8,000 (A)
Semi-skilled 326,000 - %24,000 32,000 (F)
Unskilled 10,000 -%10,400 %400 (A)
%6,400 (A)
iii)
Labour Efficiently Variance = SH (SH - AH) or (SR x SH) - (SR x AH)
Skilled 67,200 - ¥1,12,000 344,800 (A)
Semi-skilled 331,200 - %26,000 %5,200 (F)
Unskilled 316,000 - 10,000 36,000 (F)
%33,600 (A)
iv) Labour Mix Variance
= Total Actual Time Worked (hours) x (Average Standard Rate per hour of Standard Gang Less
Average Standard Rate per hour of Actual Gang)
on the basis of hours worked
- 1,980 hour C;::Zig 1440 hrs.><§70+316,(;:0r;.:§65+180 hrs.xiso)
=34,500 (A)
v)
Labour Idle time variance = Idle time x Std. rate
Skilled (40-36) x40 x 70 311,200 (A)
Semi-skilled (40-36) x 10 x 65 2,600 (A)
Unskilled (40 -36) x5 x50 %1,000 (A)
314,800 (A)
Working Notes:
Category of SH* x SR AH® x SR AH® x AR RSH# x SR
workers
Skilled 960 xX 70 = 1,600 x X70 = 1,600 x X75 = 1,200 x X70 =
67,200 %1,12,000 %1,20,000 84,000
Semi-skilled 480 x X65 = 400 x X65 = 400 x %60 = 600 x X65 =
%31,200 326,000 324,000 %39,000
Unskilled 320 xX50 = 200 x X50 = 200 x X52 = 400 x X50 =
16,000 10,000 10,400 20,000
Total 1,14,400 1,48,000 1,54,400 1,43,000
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Std.labour hours
*Actual hours produced x

Total Std.labour hours
Std. hrs. for actual output are calculated as follows:

Skilled = 1,200 X 22%° = 960 hours
2,000

Semi-skilled = 600 X 2222 = 480 hours
2,000

Unskilled = 400 X 222 = 320 hours
2,000

@ Actual No. of workers x 40 hours

Std.hrs
# Actual hrs. worked x ———
Total hrs (Std.)

13. | Premier Industries has a small factory where 52 workers are employed on an average for 25 days
a month and they work 8 hours per day. The normal down time is 15%. The firm has introduced
standard costing for cost control. Its monthly budget for November, 20X1 shows that the budgeted
variable and fixed overhead are X 1,06,080 and X 2,21,000 respectively.

The firm reports the following details of actual performance for November, 20X1, after the end of
the month: -
Actual hours worked 8,100 hrs.
Actual production expressed in standard hours 8,800 hrs.
Actual Variable Overheads X1,02,000
Actual Fixed Overheads X2,00,000
You are required to Calculate: -
a) Variable Overhead Variances: -
i) Variable Overhead expenditure variance.
ii) Variable overhead efficiency variance.
b) Fixed Overhead Variances: -
i) Fixed overhead budget variance.
ii) Fixed overhead capacity variance.
iii) Fixed overhead efficiency variance.
c¢) Control Ratios: -
i) Capacity ratio.
ii) Efficiency ratio.
iii) Activity ratio.
(Jan 2021, May 2001)
Ans. |i) Computation of variable overhead Variances: -

a) Variable overhead expenditure variance = Revised Standard variable overheads-
v" Actual variable overheads
v’ Variable overhead expenditure variance = 1,05,600 — 1,02,000 —
v' Variable overhead expenditure variance = %3,600 (F)

b) Variable overhead efficiency variance = Revised standard overheads — Actual recovered
overheads
v' Variable overhead efficiency variance = 1,05,600 — 8,100 x 12
¥ Variable overhead efficiency variance = X 8,400 (A)
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Working Notes: -

Budgeted variable overheads

v’ Variable overhead recovery rate = — -
Estimated production hours

v Total estimated variable labour hours = 52 workers x 25 days x 8 days
=10,400 hours

1,06,080
8,840

v" Normal down time = 15% 0f 10,400 = 1,560 hours

v Budgeted available hours = 10,400 hours — 1560 hours = 8,840 hours
v Variable overhead recovery rate= 1’22’2:0 = X12 Per labour hour

v

Revised Variable standard overhead = % 8,800 =3 1,05,600

ii) Computation of fixed overhead variance: -
a) Fixed overhead budgeted variance = Budgeted Fixed overhead— Actual Fixed overhead
v Fixed overhead budgeted variance = 2,21,000 — 2,00,000
v Fixed overhead budgeted variance = 321,000(F)

b) Fixed overhead capacity variance = (Actual hours — Budgeted hours) X Recoveryrate
v Fixed overhead capacity variance = (8100 x 25) — (8,840 x 25)
v Fixed overhead capacity variance = X 18,500 (A)

c) Fixed overhead efficiency variance = (Standard hours — Actual hours) X Recovery rate
v Fixed overhead efficiency variance = (8,800 — 8,100) x 25
v Fixed overhead efficiency variance = X 17,500 (F)

Working Notes: -
Budgeted fixed overheads
v" Recovery rate= —=
Budgeted hours
2,21,000
v Recovery rate= ~5as0 = 125 per hour

iii) Computation of control ratios: -
Actual hours worked

a) Capacity Ratio= Budgeted Hours x 100
Capacity Ratio= 222 x 100 = 91.6289%

Required time as per standard

b) Efficiency Ratio= x 100

Actual hours worked
. . . 8800
Efficiency Ratio= 3100 % 100 = 108.6419%
Standard Hours

c) Activity Ratio= Budgeted Hours X 100

Activity= 222 X 100 = 99.5475%

14. | Following data is available for ABC Ltd.:

Standard working hours 8 hours per day of 5 days per Week

Maximum Capacity 60 employees
Actual working 50 employees
Actual hours expected to be worked per four week 8,000 hours
Standard hours expected to'be earned per four week 9,600 hours
Actual hours worked in the four week period 7,500 hours
Standard hours earned in the four week period 8,800 hours

The related period is of four weeks. Calculate the following Ratios :
i) Efficiency Ratio
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ii) Activity Ratio
iii) Standard Capacity Usage Ratio
iv) Actual Capacity Usage Ratio
v) Actual Usage of Budgeted Capacity Ratio
(May 2019, Modified MTP Nov. 2019)

Ans.

i) Efficiency Ratio:
_ Standard Hours x100

Actual Hours
8,800 hours

7,500 hours x100=117.33%

ii) Activity Ratio:
_ Standard Hours

B Budgeted Hours 100

8,800 hours
————x100 =1109
8,000 hours %

iii) Standard Capacity Usage Ratio:

Budgeted Hours
£ 100

Maximum possible Hours in the budgeted period

8,000 hours
o = 0
9,600 hours x100 =83.33%

iv) Actual Capacity Usage Ratio:
Actual Hours Worked
Maximum possible working Hours in a period

7,500 hours B
5600 hours 100 =78.125%

x100

v) Actual Usage of Budgeted Capacity Ratio:
Actual working Hours x100

Budgeted Hours

7,500 hours
PP — = 0
8,000 hours x100 = 93.75%

Working Notes:
1) Maximum Capacity in a budget period

= 60 Employees x 8 Hrs. x 5 Days x 4 Weeks = 9,600 Hrs.
2) Budgeted Hours (Hrs)

=50 Employees x 8 Hrs. x 5 Days x 4 Weeks = 8,000 Hrs.
3) Actual Hrs. = 7,500 Hrs. (given)
4) Standard Hrs. for Actual Output = 8,800 Hrs.

15.

ABC Ltd. Had prepared the following estimation for the month of January: -

Particulars Quantity Rate (X) )
Material-A 800 kg. 90.00 72,000
Material-B 600 kg. 60.00 36,000
Skilled labour 1,000 hours 75.00 75,000
Unskilled labour 800 hours 44.00 35,200

i) Normal loss was expected to be 10% of total input materials and an idle labour time of 5% of
expected labour hours was also estimated.

ii) Atthe end of the month the following information has been collected from the cost accounting
department.

iii) The company has produced 1,480 kg. finished product by using the followings: -
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Particulars Quantity Rate (X) )
Material-A 900 kg. 86.00 77,400
Material-B 650 kg. 65.00 42,250
Skilled labour 1,200 hours 71.00 85,200
Unskilled labour 860 hours 46.00 39,560

You are required to Calculate: -

a) Material Cost Variance;
b) Material Price Variance;
c) Material Mix Variance;
d) Material Yield Variance;
e) Labour Cost Variance;
f) Labour Efficiency Variance and
g) Labour Yield Variance.
(May RTP 2020, Modified RTP May 2023)
Ans. | a) Material Cost Variance (A+B) = {(Standard Quantity x Standard Price) — (Actual Quantity X
Actual Price)}
={1,26,900 — 1,19,650} = 7,250 (F)
b) Material Price Variance (A+B) = {(Actual Quantity x Standard Price) — (Actual Quantity x
Actual Price)
= {1,20,000 — 1,19,650} = 350 (F)
c¢) Material Mix Variance (A+B) = {(Revised Standard Quantity X Standard Price) —
(Actual Quantity x Standard Price)}
= {1,19,580 — 1,20,000} = 420(A)
d) Material Yield Variance (A+B) = {(Standard Quantity x Standard Price) —
(Revised Standard Quantity X Standard Price)}
= {1,26,900 — 1,19,580} = 7,320 (F)
Working Notes:

Material Variances: -
Computation of Standard Quantity (W.N.-1) X Standard Price

A =940 kg x 390 = 84,600
B=705kg xX60=42300

1645 kg 1,26,900

Computation of Revised Standard Quantity (W.N.-2) X Standard Price

A=886kgx390=79,740
B =664 kg xX60=39,840

1550 kg 1,19,580

Computation of Actual Quantity x Standard Price

A=900kg x390=281,000
B=650kg x3X60=39,000

1550 kg 1,20,000
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Computation of Actual Quantity X Actual Price

A=900kg xX86=77,400
B=650kg xX65=42,250
1550 kg 1,19,650

W.N-1: -Computation of Standard Quantity : -

v Material A - (% x 1,480 kg, ) = 939.68 or 940 kg
v Material B - (% x 1,480 kg) = 704.76 or 705 kg,

WN-2: -Computation of Revised Standard Quantity: -

v Material A - (%O‘fg x 1,550 kg) = 885.71 or 886 kg.
600 kg
1,400 kg

Please confirm this working note should be shifted above or not

¥ Material B - x 1,550 kg) = 664.28 or 664 kg,

e) Labour Cost Variance (Skilled+ Unskilled)
= {(Standard Hours X Standard Rate) — (Actual Hours X Actual Rate)}
={1,22,992 — 1,24,760} = 1,768(A)

f) Labour Efficiency Variance (Skilled + Unskilled)
= {(Standard Hours X Standard Rate) — (Actual Hours X Standard Rate)}
={1,22,992 — 1,27,840} = 4,848 (A)

g) Labour Yield Variance (Skilled + Unskilled)
= {(Standard Hours X Standard Rate) — (Revised Standard Hours X Standard Rate)}
={1,22,992 — 1,26,104} = 3,112 (A)

Labour Variances: -
Computation of Standard Hours(W.N.-3) X Standard Rate
Skilled =1116 hrs xX75=283,700
Unskilled =893 hrs x X44 =39,292
2,009 hrs 1,22,992

Computation of Revised Standard Hours (W.N.-4) x Standard Rate
Skilled =1144hrs xX75=285,800
Unskilled =916 hrs x X 44 =40,304

2,060 hrs 1,26,104

Computation of Actual Hours X Standard Rate
Skilled =1200hrs xX75=90,000
Unskilled =860 hrs x X 44 =37,840

2,060 hrs 1,27,840

Computation of Actual Hours X Actual Rate
Skilled =1200 hrs x X 71 =285,200
Unskilled =860 hrs X 46 =39,560

2,060 hrs 1,24,760
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WN-3: -Computation of Standard Hours: -

v Skilled labour - (%‘m x 1,480 kg.) =1,115.87 or 1,116 hours
0.95X800 hours

0.90%1,400 kg

v Unskilled labour - ( x 1,480 kg) = 892.69 or 893 hours.

W.N.4: -Revised Standard Hours: -

v Skilled labour - (%:zz;z x 2,060 hours) — 1,144.44 or 1,144 hours

800 hours
1,800 hours

v Unskilled labour - ( X 2,060 hours) = 915.56 or 916 hours

16. | The following data has been collected from the cost records of a unit for computing the various fixed
overhead variances for a period: -
Number of budgeted working days 25
Budgeted man-hours per day 6,000
Output (budgeted) per man-hour (in units) 1
Fixed overhead cost as budgeted X1,50,000
Actual number of working days 27
Actual man-hours per day 6,300
Actual output per man-hour (in-units) 0.9
Actual fixed overhead incurred X1,56,000
Calculate fixed overhead variances: -
a) Expenditure Variance
b) Volume Variance,
c) Fixed Cost Variance.
(ICAI SM, Modified MTP May 2022)
Ans. | a) Fixed Overhead Expenditure Variance = Budgeted fixed overhead - Actual fixed overhead
=3%1,50,000 -%1,56,000 =% 6,000 (A)
b) Fixed Overhead Volume Variance = Standard fixed overhead - Budgeted fixed overhead
=3%1,53,090 -%1,50,000 =% 3,090 (F)
c) Fixed Overhead Variance = Standard fixed overhead - Actual fixed overhead
=3%1,53,090-%1,56,000 =32,910 (A)
Working Note:
For Fixed Overheads Variances:
Actual fixed overhead incurred = X1,56,000
Budgeted fixed overhead for the period = 1,50,000
Standard fixed overhead for production (Standard output for actual time x Standard Fixed
Overhead per unit)
(6,300 hrs x 27 days x 0.9) x (X1,50,000 + 1,50,000 units) =31,53,090
17. | J.K. Ltd. Manufactures NXE by mixing three raw materials. For every batch of 100 kg. of NXE, 125

kg. of raw materials are used. In April, 20X1, 60 batches were prepared to produce an output of
5,600 kg. of NXE. The standard and actual particulars for April, 20X1, are as follows: -

Raw Standard Actual Quantity

Materials | Mix (%) Price per Mix Price per kg. | Raw Materials Purchased
kg. (%) (%) ® (kg.)

A 50 20 60 21 5,000

B 30 10 20 8 2,000

C 20 5 20 6 1,200
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You are required to Calculate: -
a) Material Price variance
b) Material usage variance

(ICAI SM)

Ans. | Material Price Variance = Standard cost of actual material used— Actual cost of actual material used

=%1,12,500 — X 1,15,500 =X 3,000 (A)

98,000 —%1,12,500 = X 14,500 (A)
Actual material used = 125 kg x 60 = 7,500 kg.

Actual cost of actual material used (Actual Quantity X Actual Rate)

Material usage Variance= Standard cost of production— Standard cost of actual material used=

A (60%) 4,500 kg x 21 = 94,500
B (20%)1,500 kg x X8 = 12,000
C (20%)1,500 kg x X6 = 9,000
7.500 1,15,500
Standard cost of actual material used (Actual Quantity X Standard Rate)

A 4,500 kg x 320 = 90,000
B 1,500 kg x X310 = 15,000
C 1,500 kg x X5 = 7,500
7.500 1,12,500

x Standard Rate)

Standard cost of material, if it had been used in standard proportion (Standard Proportion

A (50%) 3,750 kg x %20 = 75,000
B (30%) 2,250 kg x 10 = 22,500
C (20%) 1,500kg x X5 = 7,500

7,500 1,05,000

Standard cost of output for 100 kg: -

Standard Cost of Production (Standard Quantity for actual production x Standard Rate)

A 62.50 kg x 320 = 1,250

B 37.50 kg X 310 = 375

C 25.00 kg X X5 = 125
125.00 1,750

Standard cost for output of 5,600 kg.

= 22 kg x 5,600 kg = X 98,000

Note: -
variance will be as follows: -

Actual cost of material purchase: -

Material Price Variance can be calculated at the time of purchase as well. In that case, material

A 5,000 kg x 321 = %1,05,000

B 2,000 kg X X8 = 316,000

C 1,200 kg x X6 = 7,200
X1,28,200
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Standard cost of material Purchased: -

A 5,000kg xX20 = X1,00,000
B 2,000KgxX10= 20,000
C 1,200 kg x X5 = 6,000

X1,26,000

v Material Price Variance (if calculated at the time of purchase)
= Standard cost of actual material used — Actual cost of actual material used
=13%1,26,000 —31,28,200 = %2,200(A)

18. | Paras Synthetics uses Standard costing system in manufacturing of its product ‘Star 95 Mask’. The
details are as follows;

Particulars )
Direct Material 0.50 Meter @ X 60 per meter 30
Direct Labour 1 hour @ X 20 per hour 20
Variable overhead 1 hour @ X 10 per hour 10
Total 60

During the month of August, 20X1 10,000 units of ‘Star 95 Mask’ were manufactured.
Details are as follows: -
i) Direct Material Consumed 5,700 meters @ X 58 per meter
ii) Directlabour Hours @ X2,24,400
iii) Variable overhead incurred 31,12,200
iv) Variable overhead efficiency variance is X 2,000 A. Variable overheads are based on Direct
Labour Hours.
You are required to Calculate the missing data and all the relevant variances.
(ICAI SM)

Ans. | i) Material Variances: -
v Material Cost Variance = (Standard Quantity X Standrad Price — Actual Quantity x
Actual Price)
3,00,000 — 3,30,600 =1330,600(A)

v/ Material Price Variance = (Standard Price — Actual Price) Actual Quantity
(60 — 58)5,700 =% 11,400(F)

v' Material Usage Variance = (Standard Quantity —
Actual Quantity) Standard Price
(5,000 — 5,700)60 =1342,000 (A)

Workings: -

Budget Material = 0.5 X 60 =30

Standard for Actual Material = 5,000 x 60 = 3,00,000
Actual Material = 5,700 x 58 = 3,30,600

ii) Variable Overheads Variances: -
v’ Variable overhead cost Variance = (Standard variable overhead —
Actual variable overhead
v" Standard Variable Overheads: 10,000 units x 10 = 1,00,000
v" (1,00,000 — 1,12,200) =X 12,200 (A)
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v' Variable overhead Efficiency Variance = (Standard Hours — Actual Hours) %
Standard Rate per Hour
Let Actual Hours be ‘X’

(10,000 — X) x 10 = 2,000(A)
1,00,000 — 10X =-2,000

X =1,02,000 =10
Therefore, Actual Hours (X) = 10,200

v' Variable overhead Expenditure Variance = (Variable overhead at Actual Hours —
Actual Variable Overheads)
v' 10,200 x 10 —1,12,200 = 310,000 (A)

iii) Labour Variances
v' Labour Cost Variance=(Standard Hours x Standard Rate)- (Actual Hours x Actual

Rate)
10,000 X 20 — 10,200 x 22 =1324,400 (A)

v' Labour Rate Variance = (Standard Rate — Actual Rate) X Actual Hours
(20 —22) x 10,200 =1320,400 (A)

v Labour Efficiency Variance = (Standard Hours — Actual Hours) x Standard Rate
(10,000 — 10,200) x 20 = X 4,000 (A)

Workings: -

Budget Labour =1 x 20 = 20

Standard for Actual Labour = 10,000 x 20 = 2,00,000
Actual Labour = 10,200 % 22 = 2,24,400

Actual Rate = X 2,24,400 = 10,200 hours = X 22

19.

ABC Ltd. Has furnished the following information regarding the overheads for the month of June
20X1: -

i) Fixed overhead Cost Variance 2,800 (Adverse)

ii) Fixed overhead volume variance 2,000 (Adverse)

iii) Budgeted Hours for June,20X1 2,400 Hours

iv) Budgeted Overheads for June,20X1 312,000

v) Actual rate of recovery of overheads X 8 Per Hour

From the above given information.
Calculate: -
a) Fixed Overhead Expenditure Variance
b) Actual Overheads Incurred
c) Actual Hours for Actual Production
d) Fixed Overhead Capacity Variance
e) Standard hours for Actual Production
f) Fixed Overhead Efficiency Variance.
(Nov. 2020)

Ans.

a) Fixed Overhead Expenditure Variance: -
= Budgeted Fixed Overheads — Actual Fixed Overheads
=312,000 -3 12,800 (as calculated below) = X 800(A)

b) Fixed Overhead Cost Variance = Absorbed Fixed Overheads — Actual Fixed Overheads
2,800 (A) =310,000 — Actual Overheads
Actual Overheads =312,800
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12890 _ 1,600 hrs.

c) Actual Hours for Actual Production =

d) Fixed Overhead capacity Variance: -
= Budgeted Fixed Overheads for Actual Hours — Budgeted Fixed Overheads
=35x 1,600 hrs.—X 12,000 = 34,000(A)

e) Standard Hours for Actual Production: -
= Absorbed Overheads/Std. Rate
=310,000/%5 = 2,000 hrs.

f) Fixed Overhead Efficiency Variance: -
= Absorbed Fixed Overheads — Budgeted Fixed Overheads for Actual Hours
=310,000 — %5 x 1,600 hrs.= 32,000 (F)

Working Note: -
i)  Fixed Overhead Volume variance = Absorbed Fixed Overheads — Budgeted Fixed Overheads
2,000 (A) = Absorbed Fixed Overheads — 12,000
Absorbed Fixed Overheads =1310,000
ii) Standard Rate/Hour =35 (X12,000/2,400 hrs.)
20. | Acompany produces a finished product by using three basic raw materials. The following standards
have been set-up for raw materials: -
Material Standard-Mix in Standard Price per kg.
percentages in (X)
A 25 4
B 35 3
C 40 2
The standard loss in process is 20% of input. During a particular’s month, the Company produced
2,400 kgs. Of finished product. The details of stock and purchases for the month are as under: -
Material Opening Stock | Closing Stock | Purchase during the month | Costin (X)
(Kgs.) (Kgs.) (Quantity in kgs)
A 200 350 800 3,600
B 150 200 1,000 3,500
C 300 200 1,100 1,980
The opening stock is valued at standard cost. Compute: -
a) Material price and Material cost variances, when:
i) Variance is Calculated at the point of issue of ‘First-in-First-out’ basis.
ii) Variance is Calculated at the point of issue on ‘Last-in-First-Out’ basis.
b) Material Usage Variance.
c) Material Mix Variance, and
d) Material Yield Variance.
(Nov.2000)
Ans. | Variance: -

a) Material price and cost variance when variance is calculated at the point of issue on “First in
First out” basis: -
i) Material Price Variance =M;—M,= 8,295 — 7,850 = 445 (A)
ii)  Material Cost Variance =M1— M4=8,295—8,550=255 (F)
Material Price and cost variance when variance is calculated at the point of issue on “Last in
first out” basis: -
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i) Material price variance =M1—M>=8,430—7,850= 580 (A)
ii) Material cost variance= M1— M4=8,430— 8,550= 120 (F)
b) Material Mix Variance =M,— M3 = 7,850— 7,980 = 130 (F)
c¢) Material yield variance =M3 - M4=7,980— 8,550 = 570 (F)
d) Material usage variance =M,—M4=7,850—8550=700 (F)
M1 - Actual material used: -
a) Based on FIFO Method: -

A- 200 kg x X 4.00 = 800
450 kg x ¥4.50 = 2,025 2,825
650 kg
B- 150 kgxX 3.00 = 450
800 kgxX 3.50 = 2,800 3,250
950 kg
C- 300 kg xX 2.00 = 600
900 kg xX1.80 = 1,620 2,220 8,295
1200 kg

b) Based on LIFO Method: -

A- 650 kg XX 4.50 =2,925
B- 950 kg XX 3.50 = 3,325
C- 1,100 kg XX 1.80 = 1,980
100 kgxX 2.00= 200 8,430

M.-Standard Cost of Material used: -

A- 650 kg x X4.00 = 2,600
B- 950 kg x X 3.00 = 2,850
C- 1,200 kg x X 2.00 = 2,400 7,850

M;3-Standard Cost of Material if it had been used in standard proportion: -

A- *2800 kg x 0.25 x 3 4.00 = 2,800

B- 2800 kg x 0.35 x X°3.00 = 2,940

C- 2800 kg x 0.40 x X 2.00 = 2,240 7,980
*(650+950+1200)

M,-Standard Material Cost of output: -
(It is given that output was 2,400 kg. Standard loss in process is 20% of input. Therefore, Input for
an output of 2,400 kg =(2400-+-80)x100=3,000 kg.

A- 3,000 kg x 25/100 = 750 Kg %% 4.00=% 3,000
B- 3,000 kg x 35/100 = 1,050 Kg x X3.00 =X 3,150
- 40 ==
C 3,000 kg X —— = 1200 Kgx3 2.00 X2,400
100
Total Input Kg's 3,000 kg 8,550

21. | UV Ltd. Presents the following information for November, 20X1: -

Budgeted production of product P = 200 units.

Standard Consumption of Raw Materials = 2kg per unit of P.

Standard price of Material A = X 6 per kg.

Actually, 250 units of P were produced and material A was purchased at X 8 per kg. and consumed
at 1.8 kg. per unit of P.

Calculate the material cost variances. (Nov. 2008 RTP)
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Ans. | 1) Total Material Cost Variance = (Standard Price x Standard Quantity) - (Actual Price x Actual
Quantity)
=(6x500) - (8 x450)
= 3,000 - 3,600 = 600 (A)
2) Material Price Variance = (Standard price - Actual price) x Actual quantity
=(6-8)x450=900 (A)
3) Material Usage Variance = (Standard quantity - Actual quantity) x Standard price
= (500 -450) x 6 =300 (F)
Working Notes:
Actual production of P = 250 units
Standard quantity of A for actual production = 2 x 250 = 500 kg. (SQ)
Actual quantity of A for actual production = 1.8 x 250 = 450 kg. (AQ)
Standard price / kg. of A = X6 (SP)
Actual price / kg/ of A = X8 (AP)
22. | Following are the details of the product phomex for the month of April 20X1; Standard quantity of
material required per unit 5 kg.
Actual output 1000 units
Actual Cost of materials used X7,14,000
Material price variance 351,000 (Fav)
Actual price per kg of material is found to be less than standard price per kg of material by X10.
You are required to Calculate: -
a) Actual quantity and Actual price of materials used.
b) Material Usage Variance
c) Material Cost Variance
(May 2013 RTP)
Ans. | a) Actual Quantity and Actual Price of Material used: -

Material Price Variance = Actual Quantity (Standard Price - Actual Price) =X 51,000.

Or, AQ (SP—AP) =%51,000
Or, 10 AQ =%51,000
Or, AQ = 5,100 kgs

Actual cost of material used is given i.e.: -

v AQx AP =% 7,14,000
v" 0Or, 5,100 x AP =%7,14,000
v AP =%140
v Actual Price is less by X 10

v" So, Standard Price =3140+%10=% 150 perkg
v Actual Quantity = 5,100 kgs.
v' Actual Price =3140/kg

b) Material Usage Variance: -
v" Std. Price (Std. Quantity—Actual Quantity)

v’ Or, SP (SQ—AQ)
v/ =150 (1,000 units x 5 kg - 5,100 kg) = X 15,000 (A)
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c) Material Cost Variance: -

—  Std. Cost—Actual Cost

— =(SPxSQ)—(APxAQ)

=3X150 x 5,000 — X140 x 5,100

- =%7,50,000-% 7,14,000= % 36,000 (F)
Or,

351,000 (F) —% 15,000 (A) =X 36,000 (F)

Material Price Variance + Material Usage Variance

23.

A Company manufacturing two products uses Standard Costing System. The following data relating
to April, 20X1 have been furnished to you: -

Products

AQR)

B(X)

Standard Cost per unit: -

Direct Materials
Direct Wages
Fixed Overheads

4
6

—

2

R[5 o

Units processed/in Process.

Beginning of the month: All Materials applied

And 50% complete in respect of labour and

4,000

12,000

Overheads

End of the month: All Materials applied and

80% complete in respect of labour and

Overheads

8,000

12,000

Units completed and transferred to

Warehouse during the month

16,000

20,000

a)
b) Direct material usage variance.

c) Direct wage rate and efficiency variance.
Fixed overheads volume and expenditure variance.
e) Standard cost of WIP at the end of the month.

d)

You may use average cost method to analyse.
The following were the actual costs recorded during the month:

Direct materials purchased at standard price amount to X 2,00,000 and actual cost of which is
2,20,000. Direct materials used for consumption at standard price amount to X 1,75,000.

Direct wages for actual hours worked at standard wages rates were X 4,20,000 and at actual wage
rates were X 4,12,000.
Fixed Overheads budgeted were 8,25,000 and actual fixed overheads incurred were
%8,50,000.

Required: -
Direct material price variance at the point of consumption and at the point of purchase.

(May 2000)

Ans.

a)

v' Mj = Actual Quantity X Actual Price.

2,20,000
= 1,75,000 x
2,00,000

=31,92,500
v' M; = Actual Quantity X Standard Price

Direct Material Price variance at the point of consumption.
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=31,75,000 (given)
Material price variance = M1 - M;
v =1,92,500 — 1,75,000
v =17,500(A)

Direct Material price variance (at the point of purchase)
v' M; = Actual Quantity of material purchased x Actual Price
=X 2,20,000 (given)
v' M; = Actual Quantity of material purchased x Standard price
=32,00,000 (given)
v Material Price Variance = M; - M;
=3%2,20,000 — X 2,00,000
=320,000(A)

b) Material Usage Variance = M>—M,
v' M; = Actual Quantity x Standard Price
=31,75,000 given

v' M, = Standard Quantity X Standard Price
Product A = 24,000 x 2 =48,000
Product B=32,000 x 4 =1,28,000

X1,76,000

Direct material usage variance
=31,76,000 — X 1,75,000
=31,000 (F)

c) Direct wage rate and efficiency variance: -
v' Wage rate variance = Li—L;
v L1 = Actual labour hour x actual rate
=34,12,000 (given)
v Lz = Actual labour hour x Standard rate
=34,20,000 (given)
Wage rate variance = Li— L
v =3%4,12,000 —X4,20,000
v =3%8,000 (F)
Efficiency Variance = Lz - Ls
v L2=1%4,20,000
Ls = Standard labour hour X Standard rate
Product - A = 22,400 x 8 =1,79,200
Product - B=29,600 x 6 =1,77,600
X 3,56,800
Efficiency variance = L, - Ls
=34,20,000 — X 3,56,800
=363,200 (A)
d) Fixed overhead volume and expenditure variance: -
v" F1= Actual fixed overhead
=38,50,000
v" F, = Budgeted fixed overhead
v F,=1%8,25,000
v" Is = Standard fixed overhead for production
= 22,400 x 16 = 3,58,400

AR

\
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= 29,600 x 12 = 3,55,200
X7.13,600

Fixed overhead expenditure variance
=F1—-F
=13%8,50,000—% 8,25,000
=3%25,000 (A)
Volume variance = F;—Fs
=3%8,25,000 - 7,13,600
=3%1,11,400 (A)

e) Standard Cost of WIP

Equivalent unit Product A Product B
Material L & OH Material L & OH
8,000 6,400 12,000 9,600
Standard Cost 2/- 24/- 4/- 18/-
Value of WIP 16,000 1,53,600 48,000 1,72,800

v" Product A =%1,69,600
v" Product B =%2,20,800

Working Notes: -
v' Equivalent Production Statement

v Using average cost method
v/ Material Labour & Overhead

Particulars Unit Completion Units Completion Units
(%) (%)

Product-A

Units completed 16000 100 16000 100 16000

Closing WIP 8000 100 8000 80 6400
24000 24000 22400

Product-B

Units completed 20,000 100 20,000 100 20000

Closing WIP 12000 100 12000 80 9600
32000 32000 29600

24. | X Associates undertake to prepare income tax returns for individuals for a fee. They use the
weighted average method and actual costs for the financial reporting purposes. However, for
internal reporting, they use a standard costs system. The standards, based on equivalent
performance, have been established as follows: -

Labour per return 5 hrs @ X 40 per hour
Overhead per return 5hrs @ X 20 per hour

For March 20X1 performance, budgeted overhead is X 98,000 for standard labour hours allowed.
The following additional information pertains to the month of March 20X1: -

42429 Return-in-process (25% Complete) 200 Nos

Return Started in March 825 Nos
42459 Return-in-process (80% complete) 125 Nos
Cost Data:
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42429 Return-in-process labour 312,000
v" Overheads % 5,000
March 1 to 31 Labour: 4000 hours 31,78,000
Overheads 390,000
You are required to compute: -
a) For each element, equivalent units of performance and the actual cost per equivalent unit.
b) Actual Cost of return-in-process on March 31.
c) The Standard Cost per return.
d) The labour rate and labour efficiency variance as well as overhead volume and overhead
expenditure variance.
(May 2016)
Ans. | a) Statement Showing Cost Elements Equivalent. Units of Performance and the Actual Cost
per Equivalent Unit: -
Detail of Detail of Detail Equivalent Units
Returns Input Output Labour Overheads
Units units
Units (%) Units | (%)
Returns in 200 Returns 900 900 100 900 100
Process at Start Completed in
March
Returns Started in 825 Returns  in 125 100 80 100 80
March Process at the
end of March
1,025 1,025 1,000 1,000
Costs: - ) )
v" From Previous month 12,000 5,000
v During the month 1,78,000 90,000
v Total Cost 1,90,000 95,000
v Cost per Equivalent Unit 190.00 95.00
b) Actual Cost of returns in process on March 31: -
Particulars Numbers Stage of Rate per Return Total
Completion ) )
A B C D=(AXBX()
v" Labour 125'returns 0.80 190.00 19,000
v" Overhead 125 returns 0.80 95.00 9,500
28,500
c) Standard Cost per Return: -
v Labour = 5 hrs x X 40 per hour = X200
v" _Qverhead = 5 hrs x X 20 per hour = 3100
X300
v" Budgeted Volume for March = %% = 980 Returns
v Actual labour rate = 322X = 344,50
4,000
888 888 0402 support@escholars.in l 31 |




www.escholars.in

d) Computation of Variances: -
Statement Showing Output (March Only) Element Wise Labour Overhead

v Actual performance in March in terms of equivalent units as 1,000 1,000
calculated above

v Less: Returns in process at the beginning of March in terms 50 50
of equivalent units i.e., 25% of returns (200)

950 950

Variance Analysis: -
Labour Rate Variance: -

v' = Actual Time X (Standard Rate — Actual Rate)
v' = Standard Rate X Actual Time — Actual Rate X Actual Time
v' =3%40x4,000hrs.—%1,78,000 =X 18,000 (A)

Labour Efficiency Variance: -
v/ = Standard Rate x (Standard Time — Actual Time)

v" = Standard Rate x Standard Time — Standard Rate X Actual Time
v" =340 x (950 units x 5 hrs.) — %40 x 4,000 hrs.
v' =1,90,000—1,60,000 =X 30,000 (F)

Overhead Expenditure or Budgeted Variance: -
v" = Budgeted Overhead — Actual Overhead

v =%98,000 — 90,000
v =%8,000 (F)

Overhead Volume Variance: -
v" = Recovered/Absorbed Overhead — Budgeted Overhead
= 950 Units X 5 hrs.x 320 —=398,000 =% 3,000 (A)

25. | C Preserves produces Jams, Marmalade and Preserves. All the products are produced in a similar
fashion; the fruits are cooked at low temperature in a vacuum process and then blended with
glucose syrup with added citric acid and pectin to help setting.

Margins are tight and the firm operates, a system of standard costing for each batch of Jam.

The Standard cost data for a batch of raspberry Jam are

Fruit’s extract 400 kgs @ X 16 per kg.
Glucose syrup 700 kgs @ X 10 per kg.
Pectin 99 kgs @ X 33.2 per kg.
Citric acid 1 kgatX 200 per kg

Labour 18 hours @ X 32.50 per hour.

Standard processing loss 3%.

The climate conditions proved disastrous for the raspberry crop. As a consequence, normal prices
in the trade were X 19 per kg for fruits abstract although good buying could achieve some savings.
The impact of exchange rates for imported sugar plus the minimum price fixed for sugarcane,
caused the price of syrup to increase by 20%. The retail results for the batch were: -

Fruit extract 428 kgs at X 18 per kg.
Glucose syrup 742 kgs at X 12 per kg.
Pectin 125 kgs at X 32.8 per kg.
Citric acid 1 kgs at X 95 per kg.
Labour 20 hrs. at X 30 per hour
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Actual output was 1,164 kgs of raspberry Jam.

You are required to: -
1) Calculate the ingredients planning variances that are deemed uncontrollable.
2) Calculate the ingredients operating variances that are deemed controllable.
3) Calculate the mixture and yield variances.
4) Calculate the total variances for the batch.

(May 2005)
Ans. | 1) Ingredient Planning Variance: -
v Standard Quantity X Standard Price: -
v Standard Quantity X revised Standard Price
a) Fruitextract; 400x16 = 6,400
b) Glucose Syrup 700x10 =7,000
(A) 13,400
Fruit extract 400x19=7,600
Glucose Syrup 700x12 = 8,400
16,000
Planning variance =13,400—-16,000
= 2,600 (A)
2) Operating Variance: -
a) Price variance: -
v" Revised Material Price—Actual Material PricexActual Quantity consumed
i) Fruit extract; (19—18) x 428 428 (F)
ii) Glucose Syrup: Nil
iii) Pectin: (33.2—32.8) x 125 =50 (F)
iv) Citric acid: (200—95) x 1 =105(F)
Price Variance =583 (F)
b) Usage variance: -
v' (Standard Quantity—Actual Quantity) x Revised Standard Price
a) Fruitextract: (400—428) x 19 =532(A)
b) Glucose syrup; (700—742) x 12 =504 (A)
c) Pectin; (99— 125) x 33.2=863.2 (A)
d) Citric Acid Nil
Usage variance 1899.2 (A)
c) Mix variance: -
v" (Revised Standard — Actual consumption) x Standard Price
v Fruit extract : (% x 400 — 428) x 19 = 76 (F)
v" Glucose syrup: (% X 700 — 742) X 12 =168 (F)
v Pectin: (% X 99 — 125) x 33.2 = 600.3(A)
v Citric Acid (oo X 1 = 1) x 200 = 16 (F)
340.3 (A)
3) Mixture & Yield variance: -.
— (Actual yield— Standard yield for actual output x Standard Cost per unit.)
—  (1,164—1,257.12) x 1‘11‘28
- =1,558.9(A)
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4) Labour Operating variance: -
— Standard Labour cost—Actual Labour Cost
=18 x 32.50 — 20 x 30
=585—-600 =15 (A)

5) Total variance: -
— Planning variance + Usage variance + Price variance + labour operating variance
= 2600 (A) + 1899.2 (A) + 583 (F) + 15 (A) = 3931.2 (A)

26. | SB Constructions Limited has entered into a big contract at an agreed price of X1,50,00,000 subject
to an escalation clause for material and labour as spent out on the contract and corresponding
actuals are as follows: -

Material Quantity Standard Rate per Actual Quantity Rate per
(tonnes) tonne (%) (tonnes) tonne (X)
A 3,000 1,000 3,400 1,100
B 2,400 800 2,300 700
C 500 4,000 600 3,900
D 100 30,000 90 31,500
Labour Hours Hourly Rate Hours Hourly Rate
) (§3)
L1 60,000 15 56,000 18
Lz 40,000 30 38,000 35
You are required to: -
1) Give your analysis of admissible escalation claimand determine the final contract price payable.
2) Prepare the contract account, if all the expenses other than material and labour related to the
contract are X 13,45,000.
3) Calculate the following variances and verify them: -
i) Material Cost variance.
ii) Material Price variance.
iii) Material Usage variance.
iv) Labour Cost variance
v) Labour rate variance
vi) Labour Efficiency variance.
(May 2010)
Ans. | 1) Statement showing additional claim due to escalation clause: -
Material Std. Std. Rate Actual Rate | Variation in Escalation
Qty./ Hours (b) Q) Rate (X) claim (X)
(a) (d) = (C-b) (e)=(axd)
A 3,000 1,000 1,100 +100 +3,00,000
B 2,400 800 700 —100 —2,40,000
C 500 4,000 3,900 —100 —50,000
D 100 30,000 31,500 +1,500 +1,50,000
Material escalation claim 1,60,000
Labour
L1 60,000 15 18 +3 +1,80,000
Lz 40,000 30 35 +5 +2,00,000
Labour escalation claim 3,80,000
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Statement Showing Final Contract Price

Particulars )

v’ Agreed contract price 1,50,00,000

v' Add: Agreed escalation claim: )

v" Material Cost 1,60,000

v" Labour Cost 3,80,000
v Final Contract Price

5,40,000
1,55,40,000

2)
Dr. Contract Account Cr.

Particulars ) Particulars )

To Material: - By Contractee’s A/c 1,55,40,000

A-3,400x%X1,100

B-2,300x3%700
C-600x%3,900
D-90 x X 31,500
To Labour: -

L; -56,000xX 18

L, - 38,000 x X 35

To Other expenses

To Profit and Loss A/c

1,05,25,000

23,38,000
13,45,000
13,32,000
1,55,40,000

1,55,40,000

3) Material Variances
SQ x SP (X)

AQ x AP () AQ x SP ()

A-3,000x1,000=30,00,000

3,400x1,100=37,40,000

3,400x1,000=34,00,000

B-2,400x800=19,20,000

2,300x700=16,10,000

2,300x800=18,40,000

C-500x4,000=20,00,000

600x3,900=23,40,000

600x4,000=24,00,000

D-100x30,000=30,00,000

90x31,500=28,35,000

90x30,000=27,00,000

Total 99,20,000 1,05,25,000 1,03,40,000

v Material Cost Variance

Actual Price)

= (Standard Quantity x Standard Price) — (Actual Quantity X

=%99,20,000 — % 1,05,25,000
=%6,05,000 (A)

v' Material Price Variance = Actual Quantity (Standard Price — Actual Price)
=13%1,03,40,000 — X 1,05,25,000
=% 1,85,000 (A)

v' Material Usage Variance = (Standard Quantity X Standard Price) — (Actual Quantity X
Standard Price)
=399,20,000 — X 1,03,40,000
=34,20,000 (A)
Labour Variances
SH x SR () AH x AR (X) AH xSR ()

L1-60,000x15 =9,00,000
L2 - 40,000x30=12,00,000

56,000x18=10,08,000
38,000x35=13,30,000

56,000x15=8,40,000
38,000x30=11,40,000

Total 21,00,000 23,38,000 19,80,000
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v Labour Cost Variance = (Standard Hours X Standard Rate) — (Actual Hours X Actual Rate)
=321,00,000 — X 23,38,000
=3 2,38,000 (A)
v Labour Rate Variance = (Actual Hours X Standard Rate) — (Actual Hours X Actual Rate)
=319,80,000 — X 23,38,000
=33,58,000 (A)
v' Labour Efficiency Variance = (Standard Hours X Standard Price) — (Actual Hours X
Standard Price)
=321,00,000 —%19,80,000
=% 1,20,000 (F)

27.

A company has a normal capacity of 120 machines, working 8 hours per day for 25 days in a month.
The fixed overheads are budgeted at X 1,44,000 per month. The standard time required to
manufacture one unit of product is 4 hours.

In April, 20X1, the company worked 24 days of 840 machine hours per day and produced 5,305
units of output. The actual fixed overheads were X 1,42,000.

Calculate: -
a) Expense Variance
b) Volume Variance
¢) Total fixed overheads variance.
(ICAI SM)

Ans.

Variances: -
i) Fixed Overhead Expenditure Variance = (Budgeted fixed overhead — Actual fixed overhead)
= 1,44,000 — 1,42,000 = X 2,000 (F)
ii) Total Volume Variance = = (Standard fixed overhead — Budgeted
fixed overhead
=1,27,320 — 1,44,000 = X 16,680 (A)
a) Efficiency variance
= Std. rate per hr. (Std. hrs. for actual production - Actual hrs.)
=6x (21,220 -20,160) =36,360 (F)
b) Capacity variance
= Std. Rate (Actual hours - Budgeted hours)
=6 x {20,160 - (24 days x 120 machine x 8 hrs.)} =317,280 (A)
c) Calendar variance
= (Actual No. of days - Budgeted No. of days) x Std. rate per day
= (24 - 25) x 5,760 =X5,760 (A)
iii) Fixed overhead variance = (Standard fixed overhead — Actual
Fixed overhead
=1,27,320 — 1,42,000
=314,680 (A)
Alternatively: -
¥v"  Expenditure variance + Volume Variance = 2,000 (F) + 16,680 (A) = 314,680 (A)
Working Notes: -

Budget Actual

1) |Fixed overheads for the month 1,44,000 1,42,000

2) |Working days per month 25 24

3) |Working hours per month (120 machines x 8 hrs. x 25 | (840 machines hours

days) = 24,000 x 24 days) =20,160

4) |Production units per month 24'0(}’10 hrs. _ 6,000 5,305
4 hrs.
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5) Standard hours for actual production
= Actual production units x Std. hours per unit

= 5,305 x4 =21,220 hrs.
31,44,000

6) Standard fixed overhead rate per unit = ———=324
6000 units
7) Standard fixed overhead rate per hour = J1A4000
24,000 hrs.
Standard fixed overhead per day = 144000 35,760
25 days

28. | Baby Moon Ltd. Uses standard costing system in manufacturing one of its product ‘Baby Cap’. The
details are as follows:
Direct Material 1 Meter @ X 60 per meter 60
Direct Labour 2 hour @ X 20 per hour 40
Variable overhead 2 hour @ X 10 per hour 320
Total X120
During the month of August, 10,000 units of ‘Baby Cap’ were manufactured. Details are as follows:
Direct material consumed 11,400 meters @ X 58 per meter
Direct labour Hours ? @ ? 34,48,800
Variable overhead incurred 2,24,400
Variable overhead efficiency variance is X 4,000 A. Variable overheads are based on Direct Labour
Hours.
You are required to CALCULATE the following Variances:
a) Material Variances- Material Cost Variance, Material Price Variance and Material Usage
Variance.
b) Variable Overheads variances- Variable overhead Cost Variance, Variable overhead Efficiency
Variance and Variable overhead Expenditure Variance.
c) Labour variances- Labour Cost Variance, Labour Rate Variance and Labour Efficiency Variance.
(RTP Nov. 2021)
Ans. | a) Material Variances

Budget Std. for actual Actual
Quantity |Price | Amount | Quantity Price | Amount (X)| Quantity | Price |Amount
(Meter) ) ) (Meter) ) (Meter) ) )
1 60 60 10,000 60 6,00,000 11,400 58 6,61,200

Material Cost Variance = (Standard Quantity x Standard Price - Actual Quantity x Actual Price)
=6,00,000 - 6,61,200 =X 61,200 (A)

Material Price Variance = (Standard Price — Actual Price) Actual Quantity

=(60-58) 11,400 =X 22,800 (F)

Material Usage Variance = (Standard Quantity - Actual Quantity) Standard Price

= (10,000 - 11,400) 60 =384,000 (A)

b) Variable Overheads variances Variable overhead cost Variance
= Standard variable overhead - Actual Variable Overhead
= (10,000 units x 2 hours x X 10) - 2,24,400 =X 24,400 (A)
Variable overhead Efficiency Variance = (Standard Hours - Actual Hours) x Standard Rate per
Hour
Let Actual Hours be ‘X', then:
(20,000 -X) x 10 = 4,000 (A)
2,00,000 - 10X =-4,000
X =2,04,000+10
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Therefore, Actual Hours (X) = 20,400

Variable overhead Expenditure Variance = Variable Overhead at Actual Hours - Actual Variable
Overheads

=20,400 xX 10 - 2,24,400 =X 20,400 (A)

c) Labour variances

Budget Std. for actual Actual
Hours Rate Amount| Hours | Rate Amount| Hours Rate Amount
() ) (§3) ) ) )
2 20 40 20,0000 20 4,00,000/ 20,400 22%* 4,48,800

*Actual Rate = %4,48,800 + 20,400 hours =322

Labour Cost Variance = (Standard Hours x Standard Rate) - (Actual Hours x Actual Rate)
=4,00,000 - 4,48,800 =X 48,800 (A)

Labour Rate Variance = (Standard Rate - Actual Rate) x Actual Hours

=(20-22) x 20,400 =% 40,800 (A)

Labour Efficiency Variance = (Standard Hours - Actual Hours) x Standard Rate

= (20,000 - 20,400) x 20 =X 8,000 (A)

29. | XYZ Company has established the following standards for factory overheads.
i)  Variable overhead per unit: X10/-
ii) Fixed overheads per month X1,00,000
v Capacity of the plant 20,000 units per month.
v The actual data for the month are as follows: -
iii) Actual overheads incurred X3,00,000
iv)  Actual output (units) 15,000 units
Required: -
Calculate Overhead Variances viz: -
a) Production Volume Variance
b) Overhead expense Variance
(ICAI SM)
Ans. | Production/Overhead volume variance (only for fixed overhead)

a) Fixed Overhead Volume Variance: -
= Absorbed overhead — Budgeted Overhead
= (X5 X 15,000 units) — (X 5 X 20,000 units)
=3 75,000 —%1,00,000 =X 25,000 (Adverse)
b) Overhead expense variances;
i) For Variable overhead: -
= AQ (SR — AR)
= 15,000 units (310 — ¥10) = Nil
ii) For fixed overhead: -
= Budgeted Overhead — Actual Overhead
= (X5 x 20,000 units) — (Total overhead — Variable overhead)
= (X5 %X 20,000 units) — (X3,00,000 — 10 x 15,000 units)
=3%1,00,000 — (X 3,00,000 — X 1,50,000)
=3%1,00,000 — X 1,50,000 = X 50,000 (Adverse)
Working note-
Fixed overhead absorption rate = 31,00,000/20,000 = X5
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30. | The following standards have been set to manufacture a product: -
Direct Material: - )
2 units of A @ X 4 per unit 8.00
3 units of B @ X 3 per unit 9.00
15 units of C @ X 1 per unit 15.00
32.00
Direct Labour, 3 hours @ X 8 per hour 24.00
Total standard prime cost 56.00
The company manufactured and sold 6,000 units of the product during the year. Direct material
costs were as follows: -
12,500 units of A at X4.40 per unit
18,000 units of B at 2.80 per unit
88,500 units of C at X1.20 per unit
The company worked 17,500 direct labour hours during the year. For 2,500 of these hours, the
company paid at X 12 per hour while for the remaining, the wages were paid at standard rate.
Calculate: -
a) Materials Price Variance & Usage Variance.
b) Labour rate & Efficiency Variances.
(ICAI SM)
Ans. | Variances: -

v’ Material Price Variance= Actual Quantity (Standard price — Actual price)
= (Actual Quantity X Standard Price) — (Actual Quantity X Actual Price)
=31,92,500 — % 2,11,600
=319,100 (A)
v’ Material Usage Variance= Standard Price (Standard Quantity — Actual Quantity)
= (Standard Price x Standard Quantity) — (Standard Price X Actual Quantity)
=31,92,000 —%1,92,500 =X 500(A)

Workings: -
For Material Cost Variances: -
Standard QuantityxStandard Price

A 12,000 x4 . =48,000
B 18,000 x 3 = 54,000
C 90,000x 1 =90,000

31,92,000

Actual QuantityxActual Price

A 12,500 x 440  =55,000
B 18,000 x 2.80 =50,400
C 88,500 x 1.20 =1,06,200
X2,11,600
Actual QuantityxStandard Price
A 12,500 x4  =50,000
B 18,000 x 3 =54,000

(@)

88,500 x 1 = 88,500
X1,92,500
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Variances: -
Labour Rate Variance: - Actual Hours (Standard Rate — Actual Rate)

= (Actual Hours x Standard Rate) — (Actual Hours X Actual Rate)
=31,40,000 — X 1,50,000
= 310,000 (A)

Labour Efficiency Variance: Standard Rate (Standard Hours — Actual Hours)

= (Standard Rate X Standard Hours) — (Standard Rate X Actual Hours)
=31,44,000 — X 1,40,000
= 34,000 (F)

Workings: -
For Labour Cost Variance: -

Standard Hour X Standard Rate
Labour (6000 x 3) x X8 =1,44,000
Actual Hour X Actual Rate
Labour 2500 x 12 = 30,000
15,000 x 8 =1,20,000
1,50,000
Actual Hour x Standard Rate

Labour 17,500 x 8=1,40,000

31. | The standard mix to produce one unit of a product is as follows: -
Material X 60 units @ X 15 per unit =900
Material Y 80 units @ X 20 per unit = 1,600
Material Z 100 units @ X 25 per unit = 2,500
240 units = 5,000
During the month of April, 10 units were actually produced and consumption was as follows: -
Material X 640 units @ X 17.50 per unit =11,200
Material Y 950 units @ X 18.00 per unit =17,100
Material Z 870 units @ X 27.50 per unit = 23925
2,460 units =52,225
Calculate all Material Variances.
(ICAI SM)
Ans. | 1) Material Cost Variance = Standard cost — Actual cost
=1X50,000 —X 52,225
Material Cost Variance = X 2,225 (A)
2) Materials Price Variance = (Standard Price — Actual Price) X Actual Quantity
Material X = (15 -17.50) x 640 =31,600 (A)
Material Y = (20— 18) x 950 =31,900 (F)
Material Z =(25—-27.50) x 870 =32,175(A)
Material Price =31,875 (A)
Variance
3) Material Usage Variance = (Standard Quantity — Actual Quantity) X Standard Price
Material X = (600 — 640) x 15 =3600(A)
Material Y = (800 —950) x 20 =33,000(4)
Material Z = (1,000 — 870) x 25 =3X3,250(F)
Material Usage =3350(A)
Variance
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4) Material Mix Variance = (Revised Standard Quantity — Actual Quantity) X Standard Price

Material X = (615*-640) x 15 =3375(4)
Material Y =(820*-950) x 20 =32,600 (A)
Material Z =(1,025-870) x 25 =3X3.875 (F)
MMV =3900(F)
*Revised Standard Quantity (RSQ) is calculated as follows: -
— Material X= % X 600 = 615 units

—  Material Y = 2282 x 800 = 820 units
2,400

—  Material Z = 2%%% x 1,000 = 1,025 units
2,400

5) Material Yield Variance = (Standard Quantity — Revised Standard Quantity) x Standard Price

Material X = (600 — 615) x 15 =3 225(A)
Material Y = (800 — 820) x 20 =3400(A)
Material Z = (1,000 — 1,025) x 25 =3625(4)
Material  Yield =31,250 (A)
Variance

Workings: -

Standard cost for 10 units
X =600 units xX15= 9,000
Y =800 units X320 = 16,000
X =1,000 units X325 = 25,000
2,400 50,000

Actual cost for 10 units
X = 640 units x317.50= 11,200
Y =950 units x318.00= 17,100
X =870 units xX27.50= 23,925

2,460 52,225
32. | Asingle product company has prepared the following cost sheet based on 8,000 units of output per
month:
£ {
Materials 1.5 kg @ X 24 per kg 36.00
Direct Labour 3 Hours @ X 4 per hour 12.00
Factory overheads 12.00
Total 60.00
The flexible budget for factory overheads is as under:
Output (units) 6,000 7,500 9,000 10,500
Factory overheads () 81,600 92,400 1,03,200 1,14,000

The actual results for the month of October, 20X1 are given below:

v Direct Materials purchased and consumed were 11,224 kg at 32,66,570.

v’ Direct Labour hours worked were 22,400 and Direct Wages paid amounted to X 96,320.

v Factory overheads incurred amounted to 396,440 out of which the variable overhead is X 2.60
per Direct Labour hour worked.:

v Actual output is 7,620 units.
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v" Work-in-process:
Opening WIP: 300 units:
Materials 100% complete
Labour and Overheads 60% complete
Closing WIP: 200 units:
Materials 50% complete
Labour and Overheads 40% complete

You are required to analyse the variances.

(Nov. 2002)

Ans. | 1) Material Price variance =M;-M;
=2,66,570 -2,69,376
= 2,806 (F)

2) Material usage variance =M, - My
=2,69,376 - 2,67,120
=2,256 (A)

3) Material cost variance =Mp-My
=2,66,570 - 2,67,120
=550 (F)

Working Notes for material variances:
M1 = Actual cost of actual material used

= AQ x AP
= 11,224 x 23.75
=2,66,570

M; = Std. cost of actual material used
= AQ x SP
=11,224 x 24
=269,376

Y = Std. cost of Std. Material used.
=SQ x SP

*7,420 x 1.5 x 24

2,67,120

*7,620 (Actual output)-300 (Opening WIP) +100 (Closing WIP X 50%)

4) Labour cost variance =Li1-Ls
=396,320 - 390,240
=36,080(A)

5) Labour rate variance =Li1-L
=396,320 - 89,600
=3%6,720 (A)

6) Labour efficiency variance =L2-Ls
=89,600 - 90,240
=3640 (F)
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Working Notes for labour variances:
L1 = Actual labour cost

= (AHA x AR)
= 22400 hours x 34.30
=396,320

Ly = Standard labour cost for actual hours
=AHA x SR
= 22400 hours x 34
=389,600

L5 = Standard labour cost for standard hours
=SH x SR
=**7520 x 3 x 4 (refer working notes for Std. hours)
=390,240

*#7,620 (Actual output)-300 (Opening WIP) +200 (Closing WIP)

Variable Overhead Variance
7) Variable overhead expenditure variance =V;-V3

= 354,144-353,760
=3384 (F)
8) VOH cost variance = Vi - V3
=358,240 - 354,144
=34,096 (A)
Working Notes for variable overhead variance:

Vi1 = Actual variable overhead
=22,400 x 2.60
=%58,240

V2 = Std. variable overhead for actual Hours.
AHA x SR
=22,400 x 2.40**
=353,760

V3 =AY x SR / unit
=7,520 x X7.20*
=354,144

*Standard Rate Per unit: -
Difference in budgeted variable overhead at highest and lowest activity level

Difference in budgeted output at Highes and lowest activity level
_ (1,14,000—-81600)
~ (10,500-6,000)

=7.20/unit

_ Standard Rate per unit

**Standard Rate Per hour ~ Standard hours per unit

_72

3
=32.40/hour
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Fixed overhead variance:

9) Fixed overhead cost variance =F1-Fs
=338,200 -%36,096
=32,104 (A)

10) Fixed overhead expenditure variance = F; - F;
= 338,200 - 338,400
=3200 (F)

11) Fixed overhead capacity variance =Fz-F4
= 338,400 - 335,840
=3%2,560 (A)

12) Fixed overhead efficiency variance =F4-Fs
=3%38,840 - 336,096
=3256 (F)

13) Fixed overhead volume variance = F, - Fs
=338,400 - 336,096
=32,304

Working Notes for fixed overhead variances:

F1 = Actual fixed overhead
=96,440 - 58,240
= 38,200

F, = Budgeted fixed overhead
=96,000 - 57,600
= 38,400

F3 =SR x ADA
= Not applicable

F4 = AHW x SR*
=22,400 x 1.60
= 35,840

Fs = AY x SR/unit**
=7,520 x 34.80
=336,096

_ Budgeted fixed overhead

*SR/hour

B Budgeted hours worked
_ 38,400

~ 24,000

=3%1.60/hour

**SR Per unit = 3 hours Per unit X X1.60 Per hour
=3 4.8 Per unit

33.

Following information has been provided by a company:

Number of units produced and sold 9,000
Standard labour rate per hour 312
Standard hours required for 9,000 units -

Actual hours required 25,641 hours

888 888 0402 support@escholars.in l 44




www.escholars.in

Labour efficiency 105.3%
Labour rate variance 31,53,846 (A)

You are required to CALCULATE:
i) Actual labour rate per hour
ii) Standard hours required for 9,000 units
iii) Labour Efficiency variance
iv) Standard labour cost per unit
v) Actual labour cost per unit.
(MTP Dec. 2021)

Ans. | i) Labour rate Variance = AH (SR - AR)
-1,53,846 = 25,641 (12-AR)
-6=12-AR
AR=%X18
ii) Labour Efficiency
= 2x100 = 1053
G — AHX1053 _ 25641x1053
100 100
SH = 26,999.973
SH = 27,000 hours
iii) Labour Efficiency Variance = SR (SH - AH)
=12(27,000 - 25,641)
=316,308 (F)
iv) Standard Labour Cost per Unit
_ 27.000x12 _ 2 40
9,000
v) Actual Labour Cost Per Unit
_ 25641X18 _ 2o og9
9,000
Working Notes:
SR - Standard labour Rate per Hour
AR - Actual labour rate per hour
SH - Standard Hours
AH - Actual hours
34. | The overhead expense budget for a factory producing to a capacity of 200 units per month is as

follows: -
Description of overhead Fixed cost per | Variable cost per Total cost per
unitin (X) unitin (X) unitin (X)
Power and fuel 1,000 500 1,500
Repair and maintenance 500 250 750
Printing and stationary 500 250 750
Other overheads 1,000 500 1,500
Total X3,000 1,500 4,500

The factory has actually produced only 100 units in a particular month. Details of overheads actually
incurred have been provided by the accounts department and are as follows: -
Description of overhead Actual cost
Power and fuel 34,00,000
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Repair and maintenance X2,00,000
Printing and stationary X1,75,000
Other overheads X 3,75,000
You are required to Calculate the overhead volume variance and the overhead expense variance.
(ICAI SM)
Ans. i) Overhead’s volume variance (in case of fixed overhead): -
v"  Standard fixed overheads per unit (SR): X 3,000 (Given)
Actual production : 100 units
Standard production (capacity) : 200 units
v Fixed Overhead Volume Variance: -
= Absorbed overhead — Budgeted Overhead
= (X 3,000 x 100 units) — (X3,000 x 200 units)
=X 3,00,000 — X 6,00,000 = X 3,00,000(Adverse)
ii) Overhead expense variances: -
v' For variable overhead: -
= Actual Quantity (Standard Rate — Actual Rate)
= 100 units (X 1,500 — ¥1,500) = Nil
Kindly show the calculation of standard rate
v For fixed overhead: -
= Budgeted Overhead — Actual Overhead
= (X 3,000 x 200 units) — (Total overhead — Variable overhead)
= (X3,000 X 200 units) — (311,50,000 — 1,500 X 100 units)
=36,00,000 — (X 11,50,000 — X1,50,000)
= %6,00,000 — %10,00,000 = %4,00,000(Adverse)

35. | Y Ltd. manufactures “Product M” which requires three types of raw materials - “A”, “B” & “C”.
Following information related to 1st quarter of the F.Y. 2022-23 has been collected from its books
of accounts. The standard material input required for 1,000 kg of finished product ‘M’ are as under:

Material Quantity (Kg.) Std. Rate per Kg. ()
A 500 25
B 350 45
C 250 55
1,100
Standard Loss 100
Standard Output 1,000
During the period, the company produced 20,000 kg of product ‘M’ for which the actual quantity of
materials consumed and purchase prices are as under:
Material Quantity (Kg.) Purchase Price per Kg. (X)
A 11,000 23
B 7,500 48
C 4,500 60
You are required to calculate:
i) Material Cost Variance
ii) Material Price Variance for each raw material and Product ‘M’
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iii) Material Usage Variance for each material and Product ‘M’
iv) Material Yield Variance
Note: Indicate the nature of variance i.e., Favourable or Adverse.

(Nov. 2022)
Ans. | | Output | Given Standard 1000 kgs Revised Standard 2000 Actual 20000 kgs
kgs
Quantity| Rate | Amount| Quantity Rate | Amount| Quantity| Rate| Amount
A 500 25| 12,500 | 10,000 25| 250,000; 11,000 23 253,000
B 350 45| 15,750 7,000 45| 315,000 7,500 48| 360,000
C 250 55| 13,750 5,000 55| 275,000] 4,500 60 | 270,000
1,100 42,000 | 22,000 840,000 23,000 883,000
1) Material Cost variance = standard Cost - actual Cost 8,40,000 - 8,83,000 = 43,000A
2) Material Price Variance = (Standard Rate - Actual rate) x Actual Quantity
a) (25-23)x 11,000 =22,000F
b) (45-48) x 7,500 = 22,500A
c) (55-60) x 4,500 =22,500A 23,000A
3) Material Usage Variance = (standard quantity - Actual Quantity) x Actual Rate
a) (10,000-11,000) x 25 = 25,000A
b) (7000 - 7500) x 45 =22,500A
¢) (5000-4500)x55=27,500F 20,000A
4) Material Yield Variance
= (Std. Total Quantity - Actual Total Quantity x Standard weighted average purchase price
= (22,000 - 23,000) x 8,40,000/22,000 = 38,182 (Adverse)
36. | Ahaan Limited operates a system of standard costing in respect of one of its products 'AH1' which

is manufactured within a single cost centre. Details of standard per unit are as follows:

v The standard material input is 20 kilograms at a standard price of 324 per kilogram.
v The standard wage rate is 72 per hour and 5 hours are allowed to produce one unit.
v Fixed production overhead is absorbed at the rate of 100% of wages cost.

During the month of April 2022, the following was incurred:

v Actual price paid for material purchased @ 322 per kilogram.
v Total direct wages cost was 343,92,000

v Fixed production overhead cost incurred was 345,00,000
Analysis of variances was as follows:

Variances Favourable Adverse
Direct material price 34,80,000 -
Direct material usage 348,000

Direct labour rate - 369,120
Direct labour efficiency 33,120 -
Fixed production overhead expenditure 1,80,000

You are required to CALCULATE the following for the month of April, 2022
i) Material cost variance
ii) Budgeted output (in units)

iii) Quantity of raw materials purchased (in kilograms)

iv) Actual output (in units)
v) Actual hours worked
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vi) Actual wage rate per labour hour
vii) Labour cost variance
viii) Production overhead cost variance
(RTP Nov 2022)

Ans.

i) Direct Material Cost Variance = Direct Material Price Variance + Direct Material Usage
Variance = %4,80,000 F + 348,000 F =% 5,28,000 F
ii) Budgeted Output (units)
iii)
Fixed Production Overhead Expenditure Variance = Budgeted Fixed Overhead - Actual
Fixed Overheads

(Budgeted Output x Standard Overhead Rate - Actual Fixed Overheads)

=31,80,000A = Budgeted Outputx I 360 (5 hrs @ 72) - X 45,00,000

45,00,000 —%1,80,000 .
360 =12,000 units

iv) Quantity of Materials purchased (in kilograms)
Material Price Variance = Actual Usage X (Standard Price per kg - Actual price per kg)

Budgeted Output =

34,80,000 F = Actual Usage (X 24 -3 22)
80000 - 240,000 kgs

Actual usage in kgs =

v) Actual Output (units)

Actual Direct wages 343,92,000

Direct labour rate variance 369,120A

Direct labour efficiency variance 333,120 F

Standard labour cost for actual output %43,56,000
Actual Output _ Standard labour cost for actual output

Standard wage rate per unit

343,56, .
2356909 _ 12,100 units

360 (72X5)
Alternatively, let X be the actual quantity of output Then, Standard Quantity of input for actual
output 'X'
20X =SQ
Material cost variance = (SQ x SP) - (AQ x AP)

X5,28,000 =(20 X x X24) - (2,40,000 kgs x X22)

480X = 352,80,000 + 35,28,000
480X - 358,08,000
X — 15808000 _ 15 100 units

480
vi) Actual hours worked

Labour Efficiency Variance = Standard Labour Rate (Standard time for actual output -
Actual time)
X 33,120 F =72 (5 hours x 12100 units - Actual time)
460 hours = 60,500 hours - Actual time
Actual time= 60,500 - 460 = 60,040 hours
vii) Actual wage rate per hour

Actual Wages paid =343,92,000
Actual hours worked = 60,040 hours
43,92,000

Actual Wage rate per hour = =373.15 per hour

60,040 hours
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viii) Labour cost variance
= Labour rate variance + Labour efficiency variance
=X69,120 A +333,120 F
=%36,000 A
ix) Production Overhead Cost Variance
= Actual Output x Standard overhead rate - Actual Overheads Incurred
= 12,100 units xX 360 - X 45,00,000
=343,56,000 - X 45,00,000
=%1,44,000 A

37.

NC Limited uses a standard costing system for the manufacturing of its product ‘X’. The following

information is a available for the last week of the month:

v' 25,000 kg of raw material were actually purchased for ¥3,12,500. The expected output is 8 units
of product X’ from each one kg of raw material. There is no opening and closing inventories.
The material price variance and material cost variance, as per cost records, are 312,500 (F) and
%1800 (A), respectively.

v The standard time to produce a batch of 10 units of product ‘X’ is 15 minutes The standard wage
rate per labour hour is X50. The company employs 125 workers in two categories, skilled and
semi-skilled, in a ratio of 60:40. The hourly wages actually paid were 50 per hour for skilled
workers and 40 hours for semi-skilled workers. The weekly working hours are 40 hours per
worker. Standard wage rate is the same for skilled and semi-skilled workers.

v" The monthly fixed overheads are budgeted at 376,480. Overheads are evenly distributed
throughout the month and assume 4 weeks in a month. In the last week of the month, the actual
fixed overhead expenses were X19,500.

Required:

i) Calculate the standard price per kg and the standard quantity of raw material.

ii) Calculate the material usage variance, labour cost variance, and labour efficiency variance.

iii) Calculate the fixed overhead cost variance, the fixed overhead expenditure variance and the
fixed overhead volume variance.

Note: Indicate the nature of variance i.e. Favourable or Adverse.
(May 2023)

Ans.

i) Calculation of Standard Price Per Kg and the Standard Quantity of raw material:
Material Price Variance = (SP - AP) x Actual Mat. Purchase

12500 = (SP - 12.5) x 25000
12500 = 25000 S.P - 312500
S.P =313

Material Cost Variance = (SQ X SP) - (AQ X AP)

- 1800 =(SQ X 13)-312500
- 1800 =13SQ-312500
SQ =23,900

ii) Material usage variance = (Std. Q for actual output - Actual Q.) X S.P
=(23,900 - 25,000) 13
=14,300 (A)
Labour Cost Variance = (Std. Labour hours X SR) - (Actual Labour hours X AR)

Skilled:
=(75x40x50) - (75x40x50)
0

Semi-skilled:
=(50X40X50)-(50X40X40)
=1,00,000 - 80,000
=320,000 (f)
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Labour Efficiency Variance = (Std hours for actual output - Actual hours) X SR
= {(125 workers x 40) - (125 X 40)} x50
=0
iii) Fixed overhead Cost Variance = (Fixed Overhead Absorbed - Actual Fixed Overhead)

. . Budgeted OHS
Fixed overhead Absorption Rate = 9T
Budgeted output

_ 764804
=( 2,00,000 )
=30.0956/Unit.
={(0.0956 X 191200) - 19500}
=31221 (A)
Fixed Overhead Expenditure Variance: = (Budget Fixed OH - Actual Fixed OH)
=19120-19500
=380 (A)
Fixed Overhead Volume Variance = {Fixed overhead Absorbed - Budgeted Fixed overhead}
=18,279 -19120
=841 (A)

888 888 0402 support@escholars.in 50 I




